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Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Winter Examination-2015

Subject Name : Digital Electronics and Digital Instruments
Subject Code :2TE04DEI1

Semester :4 Date : 23/11/2015 Time : 2:30 To 5:30 Marks :70

Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Branch :Diploma (Electrical)

Attempt the following questions:

1. The Number System of 10 Digits is Called--------------------
(1)Binary Number System (2) Octal Number System
(3)Decimal Number System (4) Hexadecimal Number
System

2. For AND Gate Y=
(1) A+B (2)AB (3)A-B (49)A=B

3. Gate has One Input and One Output.
(1) OR (2)NOT (3)NOR (4)AND

4, Which Gate is Work as Universal Gate?
(1)EX-OR (2)EX-NOR (3)NAND  (4)OR

S. As per Boolean Algebra A+A’=
M1 @0 A @A

6. Half Adder has How many Inputs?
M1 @2 @3 @4

7. There are Output in Flip-Flop Circuit.
M1 @2 @3 @4

8. In Flip-Flop Outputs are
(1)Equal  (2) Positive  (3)Negative  (4)Inverted

(14)



9. Where Counter is Used?
(1) For Count Object  (2) For Count Pulses  (3) For Count Visitors
(4)All Above

10. Which is Display Device?
(1)LED (2)CRT (3)ROM (4)RAM

11. (101),+ (011)2=( )2
(1)1000 (2)101 (3)1010  (4)112

12. Full Form of SOP is -
(1)Sum of Product  (2)Sequence of Product  (3)Sum of Path  (4)
Sequence of Path

13. In Boolean Algebra A+AB=
(1)A (2A’B  (3)AB  (4)None of Above

14, Cost of Digital Instrument Compared to Analog Instrument is
(1) High  (2) Low  (3) Medium  (4) Equal

Attempt any four questions from Q-2 to Q-8

Q-2 Attempt all questions (14)
A) Perform Following Operation.
A. (100111); X (11101),
B. (110101), + (111),

B) Convert
A. (367)g - ( )2
B. (2907.38)10 — ( )
C.(BB.CCD);s — ( )10
Q-3 Attempt all questions (14)
A) Explain Three Basic Logic Gates with Figure and Truth Table.
B) Explain NOR Gate As Universal Gate.
Q-4 Attempt all questions (14)
A) Write Down De Morgan’s Theorem And Explain It With Neat And Clean
Figure.
B) 1. Draw Logic Circuit for Y= A+A’BC+ AB’C’

2. Prove: ABC + A’BC+ AB’C+ A’'B’C+ AB’C’+ A’B’C’ = C+B’



Q-6

Q-8

A)
B)

A)
B)

A)
B)

A)

B)

Attempt all questions
Explain Full Adder with Block Diagram, Circuit Diagram and Truth Table.
Explain BCD to Seven Segment Display with its Truth Table.

Attempt all questions

Explain R-S Flip Flop with Circuit Diagram and Truth Table.

Write Name Of Semiconductor Memory And Explain Any Two Memories In
Detail.

Attempt all questions
Compare: Digital Instruments & Analog Instruments.
Explain Digital Watt Meter with appropriate Figure.

Attempt all questions

What is Shift Register? Give types of Shift Register and explain any two of
them.

Give Types of D/A Converter. Explain any one with Figure.
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